

Custodial Paper Regional Distributors, Inc. Supplier Response

Event Information

Number: Custodial Paper Title: Vendor Bid Listing Type: Request for Bid

Issue Date: 4/18/2019

Deadline: 4/18/2019 01:08 PM (ET)

Contact Information

Contact: Linda McClean Address: 131 Drumlin Court.

Newark, NY 14513

Phone: 1 (315) 332-7458 Fax: 1 (315) 332-7409

Email: wflpurchasing@wflboces.org

Regional Distributors, Inc. Information Contact: **Lance Boyington** Address: 1281 Mt. Read Blvd. Rochester, NY 14606 Phone: (585) 458-3300 Fax: (585) 458-3314 lboyington@regdist.com Email: By submitting your response, you certify that you are authorized to represent and bind your company. Email Signature Submitted at 4/22/2019 11:15:00 AM **Bid Lines** Green Seal - C-Fold Paper Towels, 524W 10-1/8 X 13 White 19 lbs/case, 150/pack 2400/case, Price Changes Allowed, SAMPLE REQUIRED \$15.00 Quantity: 5 UOM: CASE Unit Price: Total: \$75.00 Supplier Notes: 01095 KRUGER WHITE C-FOLD TOWELS 10" X 13" ECOLOGO CERTIFIED 12-200'S 2400/CS -100% RECYCLED FIBER, 88% POST CONSUMER CONTENT Green Seal - Multi Fold Towels, Natural, 548K 9-1/4 x 9-1/2 Brown Multi -fold 19lbs./case, 4000/Case, 200/pk, 20/pkgs, Price Changes Allowed, SAMPLE REQUIRED \$12.75 \$1,338.75 Quantity: 105 UOM: Case Unit Price: Total: Item Notes: 139540 Supplier Notes: 01820 KRUGER KRAFT MULTI-FOLD TOWEL 16-250'S + FSC CERTIFIED 4000/CS - 100% RECYCLED FIBER, 88% POST CONSUMER CONTENT Green Seal - Natural Roll Towel, 8 x 800', 6/Case, Baywest 31300, Price Changes Allowed, SAMPLE **REQUIRED** Unit Price: \$32.50 \$12,707.50 Quantity: 391 UOM: Case Total: 139557 Item Notes: Supplier Notes: 8031300 ESSITY TORK - BIDDING EXACT ITEM (FORMERLY BAYWEST) Green Seal - Facial Tissues, 8 X 8 2 Ply 160 Sheets/Box 17 lbs./ case, 160/Box. 30 Boxes/Case, EcoSoft 15000, **Price Changes Allowed** \$15.95 Unit Price: \$7,368.90 Quantity: 462 UOM: Case Total: EcoSoft Manufacturer: 15000 Manufacturer #: Item Notes: 139560 Supplier Notes:

CERTIFIED

TF6710A ESSITY TORK UNIVERSAL FACIAL FLAT BOX 30-100'S, 3000/CASE - ECOLOGO

5	Toilet Tissue, S Allowed, SAMP	Case, 35 lbs./case,	Case, Price Changes					
	Quantity: 825	UOM: Case	Unit Price:	\$24.45 To	otal: \$20,171.25			
		139570						
	Supplier Notes: 05487 KRUGER 2 PLY WRAPPED TOILET TISSUE 500 SHEETS/ROLL							
6		Solaris Livi VPG Leaf Embossed Bath Tissue, Premium Quality, White, 2 Ply, 4.5 x 4.0 inch, 500 Sheets per roll, 80 Rolls per case, Item Model Number 21545 or equivalent,						
	Quantity: 30	UOM: Case	Unit Price:	\$ To	otal: \$			
	Manufacturer:	NO AWARD						
	Manufacturer #:							
	Item Notes:							
	Supplier Notes:							
7	Toilet Tissue #5501, 4.5 X 3.6 1 Ply 1000 Sheets/Roll 96 Rolls/Case 43 lbs./case, Baywest123, Price Changes Allowed, SAMPLE REQUIRED							
	Quantity: 50 l		Unit Price:	\$ To	otal: \$			
	Manufacturer: Item Notes:	NO AWARD						
	Supplier Notes:	05401 KRUGER 1 PLY	WRAPPED TOILET TISSUE 10	000 SHEETS/ROLL				
8	Toilet Tissue -Jumbo Roll, 1000' Roll, 2 Ply, 12 Rolls/Case 24lbs./case, Case #1209, Price Changes Allowed, SAMPLE REQUIRED							
	Quantity: 410	UOM: Case	Unit Price:	\$18.35 To	otal: \$7,523.50			
		139595						
	Supplier Notes: 05328 KRUGER 2 PLY JUMBO ROLL TOILET TISSUE 9" X 1000', 12 ROLLS/CASE							
9	Toilet Tissue, 10	Toilet Tissue, 1000 1 ply sheets/roll, 96 Rolls/Case, Price Changes Allowed, SAMPLE REQUIRED						
	Quantity: 10	UOM: Case	Unit Price:	\$29.49 To	otal: \$294.90			
	Supplier Notes:	Supplier Notes: 05401 KRUGER 1 PLY WRAPPED TOILET TISSUE 1000 SHEETS/ROLL, 80 ROLLS/CASE						
1 0	•	Roll Towels, Natural 863N, 7.9 X 600' Core Size 1.625 Brown, 12 Rolls/Case 34 lbs./case, Lakebrand or Equivalent, Price Changes Allowed						
	Quantity: 430	UOM: Case	Unit Price:	\$23.85 To	otal: \$10,255.50			
	Manufacturer:	Lakebrand						
	Item Notes:	139600						
	Supplier Notes:	01842 KRUGER KRAF	T HARDWOUND PAPER TOW	EL 8" X 600', 12 RO	LLS/CASE			
1 2		Center Pull Towels - White, 8.3 Diameter X 7.6 Wide, Sheet Size 7.6 X 15 21 lbs./case, 6/600' Rolls/Case, Price Changes Allowed, SAMPLE REQUIRED						
	Quantity: 5	UOM: Case	Unit Price:	\$21.90 To	otal: \$109.50			
	Supplier Notes:	45507 SOLARIS 2 PLY	CENTERPULL TOWEL 8" X 60	00', 6/CASE				

1	Multi-Fold Towels, White 548W 9-1/4 X 9-1/2, 4000/Case 19lbs./Case, Price Changes Allowed, SAMPLE REQUIRED							
	Quantity: 100	UOM: Case	Unit Price:	\$15.99 Total:	\$1,599.00			
	Item Notes: 1	139630						
	Supplier Notes:	MB540A ESSITY UNIVERS	SAL WHITE MULTI-FOLD TO	WEL 9.5" X 9.1" 169-250'S,	4000/CASE			
1 5	White Household Roll Towel, 2 Ply, 85 Towels/Roll, 30Rolls/Case, Price Changes Allowed, SAMPLE REQUIRED							
Э	Quantity: 27	UOM: Case	Unit Price:	\$14.70 Total:	\$396.90			
	Item Notes: 1	139650						
	Supplier Notes: 01702 KRUGER 2 PLY HOUSEHOLD PAPER TOWEL 70 SHEETS/ROLL, 30 ROLLS/CASE							
1 Facial Tissues, 2 Ply, 160/Box, 36Boxes/Case, Marcal #3305, Price Changes Allowed, SAMPLE REQUI								
6		• '	· · · · · · · · · · · · · · · · · · ·					
	Quantity: 80	UOM: Case	Unit Price:	\$15.95 Total:	\$1,276.00			
	Manufacturer:	Marcal						
	Manufacturer #:	3305						
	Item Notes:	139660						
	Supplier Notes:	TF6710A ESSITY TORK I ECOLOGO CERTIFIED	UNIVERSAL FACIAL TISSUE	FLAT BOX 30-100'S, 3000/	CASE -			
4	1 880N 7.9 X 800 Core Size 2, Brown, 6 rolls/case 24 lbs./case, Price Changes Allowed, SAMPLE REQUIRED							
1	880N 7 9 X 800	Core Size 2 Brown 6 roll	s/case 24 lhs /case Price C	hanges Allowed SAMPLE	REQUIRED			
7								
7	Quantity: 355	UOM: Case	s/case 24 lbs./case, Price C	hanges Allowed, SAMPLE \$15.50 Total:	REQUIRED \$5,502.50			
7	Quantity: 355 Item Notes:	UOM: <u>Case</u> 139675		\$15.50 Total:	\$5,502.50			

Response Total: \$70,927.40